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.; )-

; > Module: Ini tial ization 
..... 
~ , 
;> This module contains the routines that are responsible for 
.;) ini tial izing Illidget. 
; ) 

;> RESIDENT PROCEDURE RegTest 
;) RESIDENT PROCEDURE StackTest 
;> RESIDENT FUNCTION RamTest : BOOLEAN 
;> RESIDENT FUNCTION EpromTest : BOOLEAN 
;} START PROCEDURE: Main 
. } 
1-

;»»»»»»»»»»»»»»»») 

Int_!JecO: 
Int_l".lecl : 
Int_Uec2: 
Int_lJec3: 
Int_Uec4: 
Int_l)ec5: 

Start...l..oop: 

. LSTOFF 

.FIN 
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.FIN 

.ORG $0 

.0"1 

.DW 

.DW 

.OW 

.DW 

.OW 

Di 

VectorO 
Uectot--l 
Uector2 
Uector3 
Uector4 
lJector5 

Srp uWrk_lo ;select 110 working register set 
err Sph ; initialize the stack 
Ld Spl}#Stack_Top 

Ld POlm~#PO-D3-Adr+PO_47-flut+Stack_ln+Pl-Adr+Mem-Ext 
Ld !PortOI#Not-FmenL+Not-ZTestL+NotJRdHdrH+Not_ServORst 

Ld P2m,p#P21_ln+P22_ln+P26_ln 
Ld !Port2, UNot-BtartL+Bsy+Z8JMem+DrwLJRead 

Ld P3m}#BO_7-Ser+Bl-B_lo+B3_4_ldm+B2-5_lo+Totem-Pol+Par-Dff 

Ld !rE}#.HIBVTE. RamBankO ;select ram bank 
Ld h-+ .. #01 
Lde ~! !rE .. !rE 
Inc !rE ;set next Ram adt ... bi t 
Ld !rF .. UOO 
Lde ~! !r·E .. !rE 

Ld 
Ld 
Ld 
Ld 
Ldei 
Ojnz 

. LSTOFF 

!rE}#.HIBYTE. $1000 ;s~le PwrFlg regs temporarily 
!rF .. #.LOW~/TE. $1000 
!rD .. #4 ;move 4 registers 
!rC}#PwrFlgO 
@! !rE .. @!rG 
!rD}Start.ioop 

.00 External 

. LSTON 
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;»»}}»»»»}»»)}}»}»)}}») 
· ). .' ;> Diagnostic: Internal Ram/Register Test 
; > 
;> This test is used as both a diagnostic and a self test routine 
;> in the Widget controller. It is intended to check the internal 
;> functions of the Z8 before allowing the controller to execute 
;> any code that could be potentially dangerous to the system. 

· ." .' . 
· > 
I 

; > 
• > .' 
; > 
· )-
1 

· } 
1 

; ) 

· } 
I 

· > 
· -:-
I . 

· > I 

.. :; .. 

; ). 

The test begins by checking working register set 0 , registers 
4;5 /6 , and 7, then uses those registers to test the rest of the others. 

Test: All Zerosl All Ones 

k := 0 { Load Value} 
For I := 1 To 2 00 
Begin 

i := 120 
j := 127 
I.Jhi Ie ( i 
Begin 

{ 128 regs: -4 i /0 ports., -4 regs used in test } 
{ Highest register address} 
> 0 ) 00 

RamReg[ j 1 := k 
j := j - 1 
i := i - 1 

End { Whi Ie } 
For i := 1 To 120 Do 
Begin 

If RamReg[ j J <> k Then HALT 
j := j + 1 

End 
k := $FF { do 1::111 one's test. next } 

End { for } 

;»>}»>}»»»»»»»»»»»»> 
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Start-RegTest: 

elr !r4 
Or !r41 !r4 
Jr tiz, . PC:. 

Ld !r5, !r·4 
Ld ~r6 .. !r4 
Ld !r7 .. !r4 
Ld !rS,!r4 
Add It-·S; !r·4 
Add !r6; !r5 
Add !r7,!r6 
Add h"'S, h""7 
Jr· Nz; .pc. 

Ld !r4,it$FF 
,Cp !f'4.,#$FF 
Jr· Nz ... PC. 

Ld !r·5 .. !r'4 

;quick check 
; loop here if can't clear r4 

;bootstrap a few registers 
11\ 
I 
I 
I ( all zeros ) 
I 
I 

; \11 
; loop here if can't bootstrap 

.; qu i ck check 

; loop here if can't set r4 

;bootstrap a few registers 



La 
Ld 
Ld 
Add 
Add 
Add 
Add 
Add 
J ..... 

. Page 

!r·o .. !r4 
! ..... 7 .. !r4 
!y·S .. ! ..... 4 
! ..... 5. !r4 
Ir·6: ! ..... 5 
!r7 .. !r6 
! ..... S .. ' ..... 7 
! ..... 8 .. #5 
Nz ... pc. 

;»»»»»»»»»»»»»»»»> 
. }-.. 
;> Test the ..... est of the registe ..... s 
; :> 

11\ 
I 
I 
I ( all ones) 
I 
J 

\11 
.. 5*(-1) + 5 = I) 
; loop here if can·t bootst ..... ap 

Clr !r4 ;load value 
Ld ' ..... 5 ... RegLpTimes 

RegLp1 : Ld 
Ld 
Ld 

!rS .. !r4 ;remember load value 
!r6 .. #RegCount-RegUsed-I-DRegUsed 

RegLp2: Ld 
Dec 
Djnz 

1 ..... 7}#HiRegAdr 

@!t"-7 .. !r4 
!r7 
! r·6 .. RegLp2 

;begin loading ram 
;point to new reg 

Ld ! 1"'6., #RegCount-Reglised-I-DRegUsed 

RegLp3: Inc 
Ld 
Cp 
._It-· 

Ld 
Ojnz 

.lSTOFF 

!r7 
!r4 .. @!r7 
' ..... 4 ... !r8 
Hz ... PC. 

' ..... 4 .. #$FF 
I t"'5 .. Reglp 1 

.00 Extet"'na I 
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;»»»»»}»»»»»}»}»»»» 
; :> 
;> Diagnostic: Stack Test 
; > 

;Read regs 

;loop here if failu ..... e 

;set up for all ones test 

;> This test is used to test the 28's push and pop capabilities 
; } as well as it·s abi I i ty to pe ..... form callis 'lt1d r·etur'ns . 
. ; > 
;> The stack is set to inte ..... nal .. and the stack top is set to 
;} location $80. The ensuing PUSH instruction first decrements the 
;> stack pointer to $7F .. and then store the contents of the 
.; ,. reg i ster· be i ng pusrlE!d in that I ocat ion. A pop instr·uct i on 
;> should first load the register with the contents pointed 
;> to by the stack pointe ..... and then increment the pointer. 
; > 
;> Registe ..... s Used: ..... 4 ....... 5 
.; > 
;»}}}}}}»)}>})}}>}}}}}»}»})}}) 



Stk_Test: 
stk_Test 1: 

. LSTOFF 

.FIN 

.00 Inte ..... nal 
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.FIN 

CI..... Sph 
Ld SpI~#$80 

Ld 
.Jr 

! ..... 4 .. Sph 
NzJ.PC. 

Cp SpIJ#$SO 
.Jr Hz".PC. 

Ld 
Push 
Ld 
. Jr 

!r4~#$RR 
!r4 
! ..... 4 .• Sph 
Hz; .PC . 

Cp SpIJ#$7F 
IJr Hz" .PC. 

Pop !r4 
Cp !r4J#$AA 
Jr Nz} .PC. 

Ld 
Jr 

!t-·4 }Sph 
Hz,.PC. 

Cp SpIJ#$SO 
Jr· Hz" .PC. 

Call 
Ld 
Cp 
Jr 

t t11~ 
Ld 
Cp 
. Jr 

Ld 
Ret 

Stk_Test 
!r4 .. Spl 
Jr4}#$7E 
Nz, .PC. 

1 ..... 4 
!r·S .. @!r4 
!r5}#StkTest 
Hz .. . PC . 

~'r4 .. #Stk-Ret 

;check the loading of Stack Pointer 

;Push/Pop $AR 

; check for decremen t of po i n tet'" 

;check for increment of pointer 

;check call capability 

;check for double dec on call 

;point to low add ..... ess byte 
; load low address byte 
;should be next instruction after call 

;check return capability 

StkJialt: Jr· StkJHalt ;Halt if pc just got incremented 

stk-Ret: Clr 
Ld 

. LSTOFF 

Sph ;initialize the stack 
Sp I J #Stack_Top 

.00 Ex tet-·na I 
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. )-
.' 
;) Ini tial ize the i 10 port contt"'ol t"'egisters 
• >­
} 

;> POlm --} 
.;> Select Port O} Bi tsO:3 = Adr Bits 8: 11 
;> Select Port 0" Bits 4:7 = Output Ports 
;> Select Port 1 = Ad ..... Bits 0:7 



;> Select Extended Memory Timing 
;) Select Internal Stack 
• > .' 
;) P2m --) 
;> Select Port 2} Bit 2 = Input 
;> Select Port 2} Bit 6 = Input 
;> All other Port 2 Bits are outputs 
;> 

; > 
· ) 
} 

· '} .' . 
; > 
; } 

· ) 
} 

Select Port 3# Bit 0 = SiD Data In 
Select Port 3} Bit 1 = Tin 
Select Port 3 1 Bit 2 = Input 
Select Port 3} Bit 3 = Input 
Select Port 3} Bit 4 = Om-
Select Port 3} Bit 5 = Output 
Select Port 3} Bit 6 = Tout 
Select Port 3} Bit 7 = Sio Data Out 
Select Sio Parity Off 
Select Totem-Pole outputs for Port 2 

;»»}>}}>}»}}}»»»»»»>}»» 
. LSTOFF 
.FIN 
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Ld !POlm_lmage}#PO-D3-Adr+PO_47-Dut+Stack_ln+Pl-Adr 
Ld !POlm-BtMach;#PO-03-Dut+PO_47-Dut+Stack_ln+Pl_Tri 
Ld POlm}!POlm_lmage 

Ld !P3m_lmage}#BO_7-Ber+Bl-D_lo+B3~4_ldm+B2-5_lo+Totem-Pol+Par-Dff 
Ld !P3m_StMach} #BO_7_Ser+B 1-5_1 o+B3_4_1 o+B2-5_1 o+Totem-Po I+P ar-Dff 
Ld P3m} I P3m_1 mage 

Ld ! OmJ1ask} #$FF-Dm 
Ld I Star t-Mask}#$FF-Not-BtartL 

Ld IprJ#$OB ;GroupA := OJ A>B>C 
Clr Imt-- ;disallow intert--upts 
Clr Irq ;clear any pending interrupts 

Clr OiskStat 
Clr Excpt-Stat ;Recovery Off 
C It-- B I kStat 
Clr RdStat 
Clr RdErrCnt 
C I r Ut-·Stat 
Clr WrErrCnt 
Clr Cache_Index 
Ld Seek_Type .. #Access-Dffset 
Ld Data_Type}#User_Type 
Clr SeekCount 
CJr SeekCount+1 

Ld !rE}#.HIBYTE. Rwi~Jalue ; load RWI/PC cylinder value 
Ld ! t--F' .' # . LOWBVTE . Ru] i _Va I ue 
Ld !rC}#Hi-Rwi-Reg 
Ldci @!rC .. @! !rE 
Ldci @!rC;@! !rE 



C I r T mr ; in i t i al i ze timers 
Ld Pre1)#$3 ;Mod-64) continuos run 
Ld T 1 .. # 143 ; i nterr-upt every 10 ms 
Or Tmr)#T1-CntEn + T1-Load 

Ei ;kludge for 28 to do poll ing 
Oi 
Ld Imr .. #Timer1 ;allow only Timer1 interrupts 

. LSTOFF 

.00 External 
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;> Initial Port Assignments 

;> Port 0 --> 
;> Bits 0:3 are set to Adr 8:11 via POlm 
;> Bit 4 = Servo Reset Active 
;> Bit 5 = Format Enable Inactive 
;> Bit 6 = 28 Test Inactive 
; > Bit 7 = Read Header' I nac:t i l)e 
· .... .. .r 

;> Port 1 --> 
.> Bits 0:7 are set to Adr 0:7 via POlm 
· > .. 

_; > Por·t 2 --> 
;> Bit 0 = Start Inactive 
;> Bit 1 = Ecc Error Inactive 
;> Bit 2 = don't care { input} 
;> Bit 3 = Busy Active 
;> Bit 4:5 = MselO# 1: 28 {--> Mem 
;> Bit 6 = don't care { input} 
;> Bit 7 = Disk Read/Write: Read 
· .... 
.. .r 

;> Port 3 --> 
; > Don't Care 
; > 
;»»»»»»»»»»»»»»»»> 

PwrRst~p: 

. LSTOFF 

.FIN 

. 00 In tet-'nal 
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Ld !PortO .. #Not-ServoRst+Not-FmenL+Not-ZTestL+Not-RdHdrH 
Ld !Port2,#Not-BtartL+Bsy+Z8-Mem+DrwL-Read 

Srp .; con te~<t sw itch 

Call Clr-BankSwitch 

Or Ex,::p t __ Sta t J #PuJt-'Rs t ; ass,-"me a power t--ese t 
Ld ! r2 .. # . H I B'ITE. $1000 ; check saved pORler' flags 
Ld !r3,#.LOWBYTE. $1000 
Ld !rE .. #.HIBVTE. PassWord 
ld !rF .. #.LOUBVTE. PassWord 
Ld !r4.,#4 ;check 4 bytes 

Lde !r'O;@! !r-Z ;get save byte 



Power-Dn: 

Ldc ! r 1} ~! ! rE .; get a byte of passwor'd 
I new ! !r2 
I new ! !rE 
Cp !r·O. !t"'l 
Jr Nz}Power-Dn 
Ojnz !r4}PwrRstJLp 

Ld 
Ld 

Scr~ntr}#.HIBVTE. 2000 
Ser_Cntr+1}#.LOWBVTE. 2000 

Ld PwrFlgO}#$FO ;initialize power-on flags 
ld PwrFlg1 1 #$78 
Ld PwrFlg2 1 #$3C 
Ld PwrFlg3}#$1E 
Jp Main ;go to main routine 

. LSTOFF 

.00 External 

. LSTON 

. Page 
;»»»»»»»»»»»»»}}»>}} 
· ) 
} 

;> FtIDction: External Ram Test 
; )-

;> This test is used as both a diagnostic and a self test routine 
.) in the Widget controller. It is intended to check the external ram 
;> of the controller before allowing the controller to execute 
;> any code that could be potentially dangerous to the system. 
· > .. 
;> Inputs: 
;> { none} 
· .,. 
I • 

; > Outputs: 
/ ExternalRamTest : BOOLEAN { Zero flag false if error} 

· .... 
} .. 
;) Test: All Zeros/ All Ones 
· .... .. .. 
; > k : = $FF { Load {Jal ue } 
;,. For j:= To 2 00 
;) Begin 
;> Dec-Bcr~ntr 
;). i := RamSize 
;> Ramptr := RamSize - 1 
; > Whi Ie i <> 0 Do 
; > Begin 
;> Ram[ RamPtr] := k 
;> RamPtr := RamPtr -
;> i := i - 1 
;> End 
;> i := RamSize 
;> While i <> 0 Do 
; > Begin 
;> If ( Ram[ Ramptrl = k ) Then HALT 
;> RamPtr := RamPtr + 1 
;) i := i - 1 
;> End 
.; > k := $00 { do all zero's test next} 
;) Et1d 
· .... . ' .. 
; > RamSize = 2048 
;> k = r5 



; ';­

; > 
· } .. 
· ') ... 

J = r·8 
i = r6 .. r7 
Ramptr = rA .. rB 
scratch reg = r4 

; > 
;»»»»»»»»»»»»»»»»> 

RamTest: 

RamLpl : 

. LSTOFF 

.FIN 

.00 
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.FIN 

Ld 
Ld 

Call 

Inter'nat 

!r4 .. #$FF 
!rS .. #RamLpTimes 

Dec-Bcr-Cnt 

;Load value 

Ld !r5 .. !r4 ;remember load value 

RamLp2: 

RamLp3: 

RamTestExit: 

Ld !r7 .. #.LOWBYTE. RamSize 
Ld !r6/~.HIBYTE. RamSize 
Ld !rB .... LOWBVTE. HiRamAdr' ; Ini tial ize Ram ptr' 
Ld !rA .. #.HIBYTE. ( HiRamAdr+RamOffset ) 

Lde 
Oecw 
Djnz 
Ojnz 

@! !rA .. !r4 
! !rA 
! t""7 I RamLp2 
!r6/RamLp2 

;begin loading ram 
;Point to next Ram location 

Ld !r6 .... HIBVTE. RamSize 

Incll! 
Lde 
Cp 
Jr 
Djnz 
Ojnz 

Ld 
Djnz 
Ret 

.LSTOFF 

! !rA 
!r4 .. @! !t"'A 
!r4 .. !r5 
Nz1RamTestExit 
Ir7 .. RomLp3 
!r6/RamLp3 

!r"4/#$OO 
! r·8 .. RamLp 1 

.00 External 
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;Point to next Ram location to check 
;Read regs 

;Loop here if failure 

;set up for all ones test 

;»»»»»»»»»»»»»»}»> 
· .... .. ' 
;> Function: Eprom Test 
· > .-
;> This test is used as both as diagnostic for' the external eprom 
;> for the Widget Controller and asa self test routine in the same 
;> units system firmll!are. 
- .... .. ' 
;> The first location in the external eprom holds one byte that 
;> is the check byte for' that eprom. the check byte is ca 1 cu I ated by 
;> adding then shifting each byte in the eprom: 
.= > 
;> Inputs: 
;> TopBank BVTE { frO } 
; > 
;> Outputs: 



· } .' EpromTest BOOLEAN { zero flag false if error} 
; > 
;> Algorithm: 

;> BEGIN 
;> FOR Both Halves of the Eprom Do 
;> Sum := 0 
;> Sum := Sum + 256*Eprom[ 0 ] 
;> . FOR i := 1 TO MaxEpromAddress DO 
.: > Dec:-.Sc:r -.en tr 
;> Sum := Sum + Eprom[ i ] 
;> IF ( Sum = 0 ) 
;> THEN EpromTest := True 
;> ELSE EpromTest := False 
; > 
;> { note that the c:hec:k byte is stored in the first two locations 
;> of the eprom } 
; > 
;»>}}}>}>}>}>}>}}»»»}}»»>}> 

Ept-'om T es t : 

E...Lp: 

. LSTOFF 

.FIN 
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.FIN 

ld !r4}!rO ;make a loop c:ounter out of highaddress 

ld 
Swap 

Call 

!rO;!r4 ;get bank to test 
IrO ;turn loop count bac:k into highaddress 
LookUp-Rom ;selec:t that bank 

Clr !r6 ;Sum := 0 
Clr !r7 
Ld !r8J

8 .HIBVTE. EpromSize 
Ld !r9}#.lOWBYTE. EpromSize 

Ld !rC~#.HIBYTE. EpromOffset 
Ld !rD}#.LOWBYTE. EpromOffset 

Ldc: !rO,@!!rC ;get Eprom[ 0 1 
Com !t-.O 
Add !r6}!rO ;Sum:= Sum + 256*Eprom[ 0 1 

I nc;1.1J ! !rC ;point to: Eprom [ 1 1 
Dec: Ir9 ; account for Eprom[ 0 

Ldc: IrO)@!!rC ;get Eprom[ 1 ] 
Com IrO 
Add !r7)!rO ;Sum:= Sum + Eprom[ 1 ] 

Incw !!ro ;do two's complement arithmetic 

Incw !!rC ;point to Eprom[ 2 ] 
Oec !r9 ; account for Eprom[ 1 

Call 
Ldc: 
InclJ.I 
Add 
Adc 
Djnz 

Dec:-'scr'_Cn tr 
!rO)@!!rC ;get Eprom[ i ] 
! !t-.c 
!r7,!rO ;Sum := Sum + Eprom[ 
!ro/#O 
! r·g ~ Eprom-Lp 



Djnz !r8)Eprom-Lp 
Jr NzJEprom-End 

Eprom....£nd: Jp BankJlet 

. LSTOFF 
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· " .' '" 
;> Procedure: MsWait 
; > 
;> This procedure is used as a software timing loop) where 
;> the busy wait length is equal to .01 * InputUalue in seconds. 
;> ( one unit wait = 10 ms ). 
; > 
.; > Inputs: 
.: > 
· .~ .' . 

WaitLength WORD { ! !r2 } 

;> Outputs: {none} 
· .... 
J ~ 

;>}}}}}}}}}}}}}}>}}}>}>}}}}}>}}}» 

. LSTOFF 

MsWai t: 

1'1sWa i t-Lp: 

Msl·Ja i t..Dec : 

Dec-Scr·....cntr: 

.FIN 

.00 Internal 
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.FIN 

Ld 
And 

Tm 
,Jr 

!rO~#10 ;change LED every 100 ms 
IrqJ#$FF-Timer1 ;clear any pending times 

IrqJ#Timerl ;wait for timer int 
Z .• MsWa i t-Lp 

Dec: !rO 
Jr Nz)MsWait-Dec 

Push !r2 ;save c:olmter 
Push !r3 
Cal I I nvert-Led 
Pop !r3 
Pop !r2 
Ld IrO)#10 

Decw 
Jr· 

Ret 

Tm 
Jr 

!!r2 ;count down a unit 
Nz)MsWait_l 

IrqJ#Timerl ;wait for timer interrupt 
ZJDec--scr...End 

ea I I I nvet-. t-Led 
And Irq} #$FF-T imerl ;get rid of old interrupt 
Ld !rO}Scr..£ntr ;check for already zero count 
Or ~rO)Scr....cntr+1 

Jr ZJDec~Scr-End 



OecIJ.1 

Ret 

Clr-BankSwitch: Ld 
Ld 
Ld 

Clr'-Bip: lde 
Inc 
Ojnz 

ld 
And 
Call 

ld 
Call 
Ret 

. LSTOFF 

.00 
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Scr-Lntr 

!r21#.HIBYTE. BankReg 
~r31#.LOWBVTE. BankReg 
~rl,#7 ;clear 7 bits 
@! !r2., !r2 
!r2 ;next bit's adr is $100 above last one 
!r1,Clr..Bip 

IrO,Excpt-Btat ;clear all but LED state 
!rO,·SFF-Led-Mask 
Set-Led 

!rO .. #Ram1 
Set-RamBank 

E~<t_ernal 

;»})}»})}»})}}»»)}»»»»» 
· .~ 
I .' 

;> Start-Procedure: Main 
· ) 
.r 

;} Inputs: {none} 
· .~ 
I • 

. ) Outputs: {none} 

;> Algorithm: 
· > I 

.::,. BEGIN 
;> SlfTst-Result := {assume all tests fail} 
;) SlfTst-Result.RomTest := RamTest 
;> SlfTst-Result.EpromTest EpromTest 
;} Init-ExtStack 
;) ZeroBlock( ReadArray ) 
;> ClearStatus 
;> Load-PassWord( WBlkFence ) 
;> Self Test 
.. ~ IF system passed setftest 
;} THEN 
;> Recovery is turned OM 
;> Load-BprTbl 
;> Load-Cache 
;) IF SystemCode THEN Scan 
;> ELSE Recovery is turned OFF 
;> Clr...Bsy( Init-Response .. Not( Cmnd-Pending ) 
;:~ END 
; > 
.»»»»»»»»»»»»»»»» 
1 . 

. LSTOFF 

.FIN 

.00 Internal 
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.FIN 
;»)}»}}»}»}»»}}}»»»»») 
• "l-.' . 
; } j-1RIN 



· .... I .. 

;»»»»»»»»»»»»»»»» 

r1ain: 

1'"1a i n..Eprom : 

Main-Bel fTst: 

Main...LdSpr: 

t1a i n-Set...R : 

t1a i nJ::ache : 

t1ain...Lpl : 

Ld SlfTst-Result,#$FF ;assume all failures at first 

Cal I RamTest ;test external ram 
Jr Nz,Main..Eprom 
And SlfTst...Result,#$FF-Ram-FaiJ 

Ld 
Call 
Jr· 
And 

Call 

! t-'O I #Eprom2 
EpromTest ;test external eprom bank 0 1 1 
Nz,Main-SelfTst 
SlfTst-ResultJ#$FF-Eprom-Fail 

ExtStk-Uector ;init external stack 

Ld !rE}#.HIBVTE. ~BlkFence 
Ld !rf}#.LOWBVTE. WBlkFence 

Call LdPw_Vector ;set write buffer fence 

Cal I ClrStat_Vector ;clear all status' 

Call SlfTst_Uector ;perform self test 

Tm 
Jr 
And 
Jt-· 

Or 

SlfTst...Result}#$FF-No-SprTbl 
Z.Main_Set...R 
Excpt-stat,#$FF-Recovery ;THEN Recovery is off 
Mainipl 

Excpt-Btat,#Recovery ;ELSE it is ON 

Cal I SprTbl_Vector 

Call 

Ca I I I Scon_IJec tor 

Call 
Gall 

Clr....BankSwitch 
Set_SeekNeeded 

Ld Wrk_lo+$A}#lnit-Response 
Clr Wrk_lo+$B ;Cmnd-Pending} IBsy := False 

\ I ;in-line code, must be followed by Clr-Bsy 

. LSTOFF 


